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@ A= {2},
B=go

® A= {z|z+= 29 Hi},
B = {z|z= 49] Hi4}
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® ANnB=1{9,12}

® BUC ={1,2,5,6,7,9,10}

® AUC =1{2,5,6,7,9,10,12}

@ (ANB)UC ={2,5,6,7,9,10,12}
® AN(BUC)=1{2,5,6,9,12}
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®© A=1{1, 2,4}, B=/1{1, 4, 6}

@ A=g2, B={0}

® A={L, 2, 3}, B={z|1<z<3% 2AA3]
@ A={a, b, ¢}, B={a, b, ¢, d}

©) A=1{2 4, 1}7B={x|x%49] Q}:Zl\“}

AU B = {zae89s}, B =
{a|z= 30THS] ZFAS}

@ {1, 4, 8}

@ {z|ze sHTt & 29] vij=)
® {ze 08T} 22 405
@ {z|z= 89 oF4}

® {z]ze 129] o}

13.599F A, B ] disto]
n(A) =16 ,n(B) = 11 ,n(AUB) = 21 & T, n(ANB)
=7
® 5 @ 6 ®7 @ 8 ® 9

@ n({zlze [ Juwre) Aas}) =
© n({a, b, ¢, d}) —n({b, ¢, d}) :I:]

© Ac{l, 2, 3} 2|3, n(A) =2 E WEst=
A a8 Ase ] Aer.

155 8 A B7h A2 25 0, (A-B)UX =
X, (AUB)NX = X & W&st= Ht X 9 A0
A ={z | z= 89 &=}, B = {z |
r =505 E}
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